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Choose the correct answer.
a) The rivers of the Cantabrian vertiente:

[] arelong and the flow is irregular.
[] are short and the flow is irregular.
[] are short and the flow is regular.
b) The Mediterranean inland climate has:
[ ] warm temperatures all year round and

scarce rainfall.
[ ] mild winters, hot summers and abundant

Kl Are the following sentences true (T) or false (F):
B The common vegetation in deciduous forests
is holm oak and cork oak trees.
B Drought especially affects the Spanish
Cantabrian coast.
B The Picos de Europa, Donana and Garajonay
are some of Spain’s national parks.
E Draw arrows to match the vegetation and fauna
with the type of climate.

Laurisilva rainfall.
I [] cold winters, hot summers and scarce
Oceanic climate infall
rainfall.

Fox

’ Mediterranean climate

1 Locate these places on the map of Spain.

a) The mountains surrounding the Meseta.
b) The rivers of the Mediterranean vertiente.

¢) The Ebro and Guadalquivir river valleys.

’ Subtropical climate
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Answers

El = False. The vegetation in deciduous forests is beech trees, oak, moorland and grassland.
B False. Drought especially affects the southern and eastern part of the Iberian Peninsula.
B True.

Laurisilva
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a) The rivers of the Cantabrian vertiente are short and the flow is regular.
b) The Mediterranean inland climate has cold winters, hot summers and scarce rainfall.

Bl Check the answers on the maps in section 1 of the Student’s Book.
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